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1. HEREA el ifefns au won gerg ger 9o 29 ?

(a) faex arfere) (b) s Ofe

(c) fam T (d) feur &HieHt

TG I

(1) W (a), (b), (d) (2) ®H (), (0 (d)
(3) ®H(a), (B) (0 (4) F (). (). (d)
Which sportsmans participated in Rio Olympic from Maharashtra ?
(a) Devinder Walmiki (b) Ayonika Paul

{¢) Kavita Raut (d) Deepa Karmakar
Answer options :

(1)  Only (a), (b), (d) (2)  Only (v), (). (d)
()  Only (a). (b). {©) (4)  Only (a), (c), (d)

2. ‘O3 T TSR, 2016 FUTSH UG HA ?
(@) .= fHy () wEh Afen (c) T FR () fagwa
uIidr I

(1) 9 (a), (b) (2) % (a), (b), (d)

@) % (), b, (4) = @), (o), (d)

Who received ‘Khel Ratna Award, 2016 ?

(a) PV.Sindhu  (b) Sakshi Malik (¢) Lalita Babar  (d) Jitu Rai
Answer options :

(1)  Only (a), (b) (2) Only (a), (b), (d)

(3) Only (a}, (b). (c) (4) Only (a), (c), {d)

. 3, ‘fodisr' (LEMOA) oS %4 ?

(1) o T AuiEn i e

(2) o i JHiien sitw sifude

(3) Oiafesy TFgdE AHNEA AE fiHe

(4) Offiesn TS AaieH 3w sfiyHe

What is meant by LEMOA ?

(1} Long Exchange Memorandum of Agreement
(2) Long Export Memorandum of Agreement

(3) Logistics Export Memorandum of Agreement
(4) Logistics Exchange Memorandum of Agreement
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4,  THEEE §AC IERE T SOAEIE] RV GaEge a1 TR [ S0 e 7

(1) o i3 d=Ea @) fr= i

(3) WeL YT (4) wPTTE gE 99Ea

Under the ‘Literacy India Missiort’, which panchayat got the National Prize for best working
in literacy in this year ?

(1) Laguniya Suryakanth Panchayat (2) Girod Panchayat
(3) Rawer Panchayat (4) Amgaon Khurd Panchayat

5. Tl TR qOENW i FI0E T TR T Fe 7

(1) A A faFe R (2) ULE TEEhS Gar R
(3) U= Hifaw foam i (4) =IO AT

Which National Award was received by Dr. H.V. Tulsiram ?
(1) National Bio-Science Award (2) National Chemical Science Award
(3) National Physical Science Award (4) None of the above

6. WA AN W GG e FREAY Gieods! S0 faumT SReT T
| (1) UG FR T 36 B w2 famm [fevar Hasn Faasas T 59,000 FEan 7=,
(2) m'mfw%ﬂﬁméwwmaﬁ.
(3) TFo T Talg [Tl 387 & 4700 foX o,
(4) HSTE HUTH Yoa HTH 36 Afe-ard FHaara] e,

Which one of the following statements about ‘Rafale’” deal between India and France is
not correct ?

(1) Itis a pact of about T 59,000 crore to deliver 36 jet fighters.
(2) Rafale fighter fitted with meteor missile.

(3) Rafale fighter has a fuel capacity of 4700 litres.

(4) The deal will be completed within next 36 months.
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7. gl 9l - 20 Fay aoied S Sivedn 3etd i FIE 3T 8 ?

1 A (2) T (3) TS 4) 3

This year, in which city of China, the G-20 Summit was organised ?

(1) Shenzen (2) Hangzhou (3) Guangzhou (4) Tianzin

8. ‘TRNIE WIS’ A=A oot Sivg AU/ atEt e/ d ?
(a) TERTEM 1075 TS I0f AR,

(b) TRRTEN 11 W ST ST

(c) WENTE UoiE T% § SUGe SHl i <@ IIE.

et 397

1 @ 2 ®) @) © @) =owd
Which of the following statements about “Maharashtra Police’ is/are correct ?

(a} In Maharashtra, there are 1075 Police Stations.

{t) In Maharashtra, there are 11 Police Commissionerate.

() Maharashtra Police Force is the second largest force in the country.

Answer options :
M (@ 2) (b) G © (4) Allabove

9. THIBUH! RV NS WET oad ?

(1) FEEA g - wiE W o
(2) TRNIEeH-TE a9 F3v - IS TEe

(3) HEmy-UEA gRa AR - EYE @Y $AR

(4) AP e T - =EHdE 9.0, 3E

Which one of the following pairs is correctly matched ?

(1) Election Commissioner - Syed Naseem Ahmed Zaidi

(2) Director General - National
Investigation Agency

(3) Chairperson - National
Green Tribunal

(4) Chairperson - National
Human Rights Commission

Ajit Doval

Justice Swatantra Kumar

Justice T.S, Thakur
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10, ROERT TR vt aefarEm St evEmnEt I arEER I 77 Frorredt
YA A A IR,
(1 g+ (2) TN F= A
(3) e v (4) W H= At
In order to achieve the objective of improving the girl child ratio in Maharashtra, the state
guovernment relaunched the scheme recently.
(1) Sukanya (2) Majhi Kanya Dhanashri
(3) Majhi Kanya Bhagyachi (4) Majht Kanya Bhagyashri

11. A, B,C D, ENMF ¥ TG Sr=0am=l HHS YUTH] TEE I 37, C § K| MErEt gy
AR ot & S foaiarEt amfva s, F&@t s e aroed oty ot sifaenfa o, A=
W% 8D N A AR, B H I TR 65 TR Wy Fr & ey aras a9 319
B S7IfYT F & Tt ST T, I 4 foaifed Sedt o1ed. @ F 9 B Y AR FH 2

(1) == (2) dEe
(3) (4) T wifed feosd w8

A, B, C, D, E and F are members of a group who enjoy book reading. C is the sarpanch of
the village and post is reserved for woman. F is pakhwas player and is a bachelor. The
brother of A is D’s husband. B’s wife is not the member of the group but sometimes
accompanies him during reading sessions. B and F are residing in neighbouring areas.
There are two married couples. How F is related to B ?

(1) Husband (2) Father

(3) Wife (4) No sufficient information is provided

wHoAT HHIEIE WO /SPACE FOR ROUGH WORK
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12. =X Higvars! 9 Aevamyie T THE FEam oo Fian w1y U Hievide §e ol
Frawra e w8 TRE @ fadua wet e
22120 31|36 8 |11 11|6
27 10 12
25 5 13
15113 2b 1419
(a) ) ()
1) () @ ® (€) (d)
Numbers in three out of the four expressions follow same rule, while one does not. Select
the odd expression.
22|20 31|36 8 |11 11| 6
27 10 28 35 10 12
25 8 25 32 5 13
15113 2429 2|6 14|9
(a) (b) (c) (d)
1 @ 2 ® (© (d)
13. N, O, P, QdR? T WA THd ARF. N & T’ O = = 1 fwd, o am.

O &1 P Teere) ufvesen 1/2 Y. sfamer ane anftr Q &1 T&ar R T&ar=w wivamel 1 fa.
STRIER 3T, A1 Wifedrsa N @i B J9UR fayue faen

(1) P @R = 9=HeT o

(2) N&PEwEEy 1/2 . 5 ama.
(3) NdR ¥ RO 3/2 fF. 4. gt amq.
(4) REO = YA .

N, O, P, Q and R are streets parallel to each other. Street N is 1 km to the east of street O,
street O is 1/2 km to the west of street I’ and street Q is 1 km to the west of street R. Select
definitely true statement on the basis of this information.

(1) P is towards west of R. {2) N and P are 1/2 km apatt.
(3) N and R are 3/2 km apart, (4) Ris to the east of O.
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14, B URGHH G qeeh (e Smiie i wet sael. sifen e fag wike s wety
feren.

W Tt

AP
SR

————— .

-

FAT ATHAT ©

EIRY RNy

Transparent paper B is folded along with dotted line in the direction of arrows. Select the
option that would look like final fold.

Question Figure :

Answers Figures :

/:h E - L‘ﬂ @ A
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TS T : : Tergrea U aiie S 9@ o SaY 31e, e 99y - ; Fameren gu=n e
T e, A Sy ayF yendw faeren SR 9 gata fraen

1) 152 (2) 142 @3y 122 @ 132

In the following question there is certain relationship between the two given numbers on
one side of :: and having the same relationship between the two numbers as the numbers
on the other side. Choaose the correct alternative, which will suitably replace the question

(1) 152 2) 142 @) 122 @) 132

A

15.
240 :380:; 2_:240
mark.
240:380::_2_: 240

16.

A, B,C,D,E F, G &t H 318 31 i afoier a@oe HRd. Tatdl 1ie ade Awamse TR
A, B = SEi%S fat=n T § F =1 357ea |e(en §U TG 9609l IS, D E A S B
AN[@ FHd TR C 3 G e Wi Fioides gydid. H 8 D =01 T9et 984 i, C 81 B =1 A5
= AL

T WETEE! T TR SO T, 3T S e TR 0. WoI® T, U WIS UF o 9eed
oI G, WOISUH! RIVE HE, 3TV TFR TN FIe T 35 Mo T 2

(1) AGEF (2) CBDH (3) HCBD (4) AFDB

Eight friends A, B, C, D, E, F, G and H are sitting around a circle facing towards the
centre. A is sitting third to the left of B, while second to the right of F. D do not sit next to

A or B. Cand G always sit next to each other. H never sits next to D. C do not sit next to
B.

For playing cards they form two groups of four members each, consisting of alternate
persons. Which of the following combinations may not be a group thus formed ?

(1) AGEEF (2) CBDH (3) HCBD (4) AFDB
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HE! B YAl GAR HEl 90, S Toh SN A0 yaihdr= SHIHHRS AN[er {2
T Wen U1 ¥Ee, 51 S ghs Fael

SN Syt RPN
i e
(2)
forar e
e e
(3) 4) :
(1) & i d S (2) UE T AR QAR

(3) T et AR S (4) wH TH
Four pieces of paper, divided in to six similar squares, coloured in different colours, are
given. They can be folded to compose cubes. Select the pieces of paper, which can be
converted in to cube, having blue and white colours on opposite sides.

! White Blue | Yellow
| Red | Green {Yellow Oranng Orange Red ‘ Green
Bl White
S -
1 (2)
‘—;lue Orange
Blue | White | Yellow Red White
Orange Green Yel]ow‘
3) (4)
(1) One and three both (2) One and four both
(3) Two and four both (4) Only one

W HETESE TN /SPACE FOR ROUGH WORK
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18. o O, Fel, Sod d S TAER IV TEER Tl O TE T Tl 3 TR W S
VAL QU FA. qAIT Sea) 1 IR 9 TR, Sfn Fata 37 T ufedt 3t e W
e fadrar Sl 43, S8 Wi S g8 Sl 4. oot YSE) 99 od el (Al

(1) o (2) dre (3) e @ @

When Laila, Leela Lalita and Leena stand according to age, Laila being younger stands
first while Leela brings up the rear. However, when they stand according to height,
Lalita being the shortest stands first while Leela comes to the third place. In both lines
Leena remains at the second position. Select the person who is immediate younger than
Leela.

(1) Laila (2) Leela (3) Lalita (4) Leena

19. A & IR, TSN AfdHaer= " AW, WEH 9 Fold W 9 30 § fava
fraes. T 9 HieT nfom 3 ofifawares stagaT. e 9 WE WRERE 9 3ust faug
Faes.

Tdiq FH FHasoe fawg S ?

(1) Fus (2) wfm (3) ORI (4) oy

Mohan and Shekhar are studying English and Physics, Shekhar and Saleem have opted
for Chemistry and English. Zubeda and Mohan are studying Mathematics and FPhysics.
Deepak and Mohan have chosen Chemistry and English.

Which is the least chosen subject ?

(1) English (2) Mathematics  (3) Chemistry (4) Physics
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20. o= wleyam s fa3a smea.
A—DB TSI B ¥ A =1 I 1.
A« B %US B E A =1 R R,
AeB %USI B § A A1 IS M.
A—B RUSIBE A = SMUAA 318,
T T-Q; TiS; RoQ; TesN; R-eS; 3Mfo1 R-Q, R-S, T-Q, T-S, T-N & 3@ HHF 37&q.
PRET,Q,S IR A 9H wHH AqUR WS T Ty g Fragn
(1) N g1P=0 I 3. (2) PET T 3.
(3) STN= THES IE, (4) PRIN = U 3.
The symbols have given the meaning as follows :
A—B means B is at the Northwest of A.
A++B means B is at the Southwest of A.
AeB means B is at the Northeast of A.

A -+ B means B is at the Southeast of A.

If T »Q; T+15; ReQ; TaN; R-+5; and distances between R-Q, RS, T-QQ, T-S, T-N are
same. P is at a equal distance from T, Q, S and R then select the true alternative.

(1) N is at the North of P (2) Pisatthe Eastof T

(3) S is at the Southwest of N (4} P is at the Northwest of N

21. IS fauH .
(a) O TEAS JHPEAA YRATE 4V F S WeHhId |9,
(b) (€ H Fieswl faidEE wag AR,
i I
(1) TauR (a) IR 3T 2) Taum (b) ST .
(3) faum (a) 3701 (b) ST 7R, 4y Taum (a) 30f (b) FHT T
Observe the following statements.
(a) The iron ore mainly is found in Dharwad series and laterite rocks.
(b) Redi Port is famous for the export of coal.
Answer options :
(1) Statement (a) is correct (2) Statement (b) is correct
(3) Statements (a) and (b) are correct (4) Statements (a) and (b) are incorrect

22, 2001 =N SRR gag 0ed g fEd o S divstEmd W 2 2

(1) 55% (2) 49% (3) 50% (4) 34%
According to 2001 census, what was the percentage of slumdwellers in Mumbai ?
(1) 55% (2) 49% (3) 50% (49) 34%
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23, woe fayriar fa=r &40 :

(a) OfgH Hee favrTde 3 Sgde ifear g UEHyd safasmme 99 &= 1000 =.fw.H.
V&l SEq T N WO ST o TEV] SHTGwI gl A ST,

(p) fagsd fourmdre Taaae TS STTHH oI, [H § Fodis g1 diat ad faurm
F& 1000 =51, e Se oT%.

g 39T
(1) (a) fu (b) =Y (2)  (a) TR (b) TIF
(3)  (a) I (b) AU (4) (a) 0 (b) 5F

Consider the following statements :

(a) Among the Western Maharashtra region, the Alibaug region in the Thane forest
circle is the only region having forest area of more than 1000 sq.km followed by
Thane and Dahanu forest regions.

{(b)  The three forest regions of Buldhana, Pusad and Yeotmal in the Yeotmal forest circle
of the Vidarbha region have a forest area of more than 1000 sq.km each.

Answer options :

(1) (a) and (b) true (2) (a) true (b) false
(3) (a) false (b) true (4) (a) and (b) false
24, WS WHF HEdiesd SR i
(a) TeEL § At T e,
) B SR geh-qes g et adum feen § afem-yd o
() YAE WE IqW R IY=HN i W 3w,
(d) Yd % I = I I
i 3N , : .
(1) 9 - 3fsa (2) eReER - SR
(3) T - meRa (@) féieht - gede €

Identify the mountajn range from the information given below :

(a) Water divide for Godavari and Tapi rivers.

(b) This mountain range is discontinuous and has a West-East orientation.
(c) Has gentle slope towards the East and steeper towards the West.

(d) The hieght decreases towards the East.

Answer options :

(1) Satmala - Ajantha (2) Harischandra - Balaghat

(3) Sambhu - Mahadev (4) Hingoli - Mudhked Hills
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25. W 9 @ ®IA 9o 4G Sies e and qaig o

e T
(@) Y= (i) —HEERIER - HAE
(b) TERH HiE () SBHETN - 3™
(c) HiZ¥S =g (i) HaE - A
(d) s HIE (iv) O -9
it Iy

@ () (© (@
1 O G @ )
(2 @(v) @ @ (@)
) ) @) @ @
4) @ @O @) (i)

Match the pass and their place and choose correct option.

Pass/Ghat Place
(a) Thal Ghat () Mahabaleshwar - Mahad
{(b) Khambatki Ghat (i) Ahmadnagar - Thane
(c) Malshej Ghat (iii) Mumbai - Nashik
(d) Ambenali Ghat (iv) Pune - Satara

Answer options :

@ @® (« @
1 @ @ W @
@) vy @ @ ()
3 @ @) @ @
@ @ O @) (@

26, UGS JOIAIHl RN HTEHATIHR WiSuT .
(a) THEY (b) <Uw (c) Ty (d)y <A
Wi’ﬁ'??ﬁ:
1) &)@ @ [ 2 G),d) (@& @) {b), W)@ @) O @ @)

Arrange the following newspapers chronologically in the order in which they were
established.

(@) Deenbandhu (b) Durpun (c) Prabhakar (d) Deenmitra
Answer options :

M G @ @@ @ b, d) @ 6 O @ @ ®) 0 @ d

Hodl WA A /SPACE FOR ROUGH WORK
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27. UEISUm! Rt SISt T 3N ?

(a) @ e - o TeReh

(b) TEETE WA - TEE TS

(¢) O I HIT BT ? - AL AR

(d) Feouia F:varE - FwieE wifew

e S

(D (d) 2 (b @) (@ 4 (o

Which of the following pair is mismatched ?

(a) Yamuna Paryatan - Baba Padmanji

(b) Dhaddhashastri Paranne - Mukundrao Patil

(c) Pan Lakshat Kon Gheto ? - H. N. Apte

(d) Kalyanche Nishwas - Kashibai Kanitkar

Answer options :

1) (d ) (@) ®) (@ 4) (9

28. TG A YEAE! (1936) TG FI0 HoI 2

(1) wEs S () S e

(3) TH. TA. S (@) Sl SLHAR e
Who founded the ‘Independent Labour Party” (1936) ?

(1) Comrade Dange (2) Senapati Bapat

(3) S. M. Joshi - (4) Dr. B.R. Ambedkar

29, SHIMAMGE T WS A= IETEe W) 91 TR = FIoES HI0EI ?
(1) 1971943 713 I 1946 (2) 10 94, 1943 A 26 I 1945
(3) 1371944 A 15 3IRE 1946 (4) OetH T

What was the period of the Satara Prati Sarkar that functioned under the leadership of
Krantisinh Nana Pati} ?

(1) 1 June, 1943 to 13 june, 1946 (2) 10 June, 1943 to 26 July, 1945
(3) 1 June, 1944 to 15 August, 1946 (4) None of the above

- —
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30. M QTS WSS TEHE Wieis! RIvE g9 S ?

(a) lded (b) YTt (c) =a=I (d) BeImRA

it 3w ;

(1) X (a) () ¥ (b) (3) (@) A (b) 4)  (c) ST (d)

Which of the following books was written by Acharya Balshastri Jambhekar in Marathi ?

(a) Etihas (b) Shunyalabdhi (c) Vyakaran {d) Chandshastra

Answer options : :

(1) Only (a) (2) Only (b) (@) (a)and (b) 4) (c) and (d)
31, MNER TEEE], HTEQ1 S G BAeanit dedia FGA TR FO .

(1) Awie fasm (2) IR =EeR faym

(3) =ma faam (4) T I S

The Indian Constitution is published by ______ of Ministry of Law and Justice.

(1) Legislative department (2) Department of Legal Affairs

(3) Department of Justice (4) National Judicial Commission

32. wOE faum faumm =
(a) EHEET FETE T 1983 W ST,
(b) TR SRR sEareed 247 freret g

TSt R/ A faum/d aET ary/a?
(1) (@) @) w ()
(3) (a) 3 (b) (4) ot @

Consider the following statements :

{a) Sarkaria Commission was set up in 1983.

() The Sarkaria Commission repot contains 247 recommendations.
Which of the statements given above is/are correct ?

(1) Only (@ (2) Only (b)

(3) (a)and (b) {4) None of the above

e SIS AT /SPACE FOR ROUGH WORK
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33, TeUTEE EEETE] Hvdl e AfiwE S 2
(1) T foun TueT T el 995 Ae-e i &,
(2) EUdEn BEAHS Tt T S,
(3) S 9y v Fodt T e TR AEAd 6T IR FEEAE] TR FO0
(4) TG TS e oraEE frwre o,
Which one of the following is not a discreionary power of the Governor ?
(1) Nornination of one-sixth of the members to the State Legislative Council.
(2) Reservation of a Bill for the consideration of the President.

{3) Appointment of the Chief Minister when no single party has clear cut majority in
the Assembly.

(4) Recommendation for the imposition of the President’s rule in the state.

34, wEE faue faqma o,
(a) wErT deer faromen st stfafram 2000 T4 dw e
(b) 1 TfE, 2010 T foramomen Afyewr Afufmmrl siveesTEa g  ae.
(c) Toaor g Hraer I IR Te OO ATEL
(d) 6714 TR W o TEd it T e ¥ @ wEas e e o
TR FO FRE T e ?
(1) (a), (b) T (d) ) (), ) 3 (c)
(3)  (b). () () ' @) (@) ®), (© = d)

Consider the following statements -

(a) The Right to Education Act was passed by the Indian Parliament in 2009.
(b) The Right to Education is implemented from 1% April, 2010.

(c) The Right to Education is not applicable for Jammu and Kashmir state.

(d) Providing free and compulsory education to all children in the age group of 6 to
14 years is the main feature of this Act.

Which of the statements given above are correct ?
(1) (), (b) and (d) (2) (a), (b) and ()
(3) (), () and (d) (4) (a), (b), (c) and (d)
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35, AR, oV, Sl §6E 91 Hevldie Te0Eedie aqel _ WEA BF] S
AT,
(1) 9 fedaT 1946 (2) 15 A 1947
(3) 26 Fr=EET 1949 (4) 26 FHIR 1950

The provisions of the constitution relating to the citizenship, elections, provisional
parliament were given effect from __

(1) 9 December, 1946 (2) 15t August, 1947

(3) 26t November, 1949 4) 26" January, 1950

36, Towe faur faur =,
(a) Taurradn wHe SH 60 Wi SIha ST 500 G9HE S|EA.
(b) TRICEA FHrHSd G58g W& 279 3R,
() fowrm Touren faus avE) e e 32 R
TIEI®! R T SOET 3R 7
1) @b () () () 3 (a) 3 (o) (4)  (a), (b) A (c)
Consider the following statements : | |

{a) There shall be not more than five hundred and not less than sixty members in a
Legislative Assembly.

(b) The Legislative Assembly of Maharashtra has 279 members.
{¢) The Legislative Assembly of Sikkim has 32 members.
Which of the statements given above are correct ?

(1) (a) and (b) (2) (b) and (c) (3) () and (9 (4)  (a), (b} and ()

HoET HATES T /SPACE FOR ROUGH WORK
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wiclt® faum foa=w = :
(a) HTTEMEE] YAl GRafaw e SN TEeE e qHE R,

(b) Feall Hy @eedid HaTw AABI TS R FETA 59 9241 WIaRY &g faar anf
VA @) T T U6 SR

(c) FIEME VI Wewdrd WdTed FEed a5l T8 WEeis gaoel e Iy siears
R YfaareT e,

(d) 1976 =1 42 =1 HeAIgERN SfUfAHER =G - FHISEE, |9 sufn sw@ear @ 9=

Ve HAHTAS FIOATT A7,
T F faem/ faum wew om/a 2
(1) w4 (a) (2) (@), (b) ()
(3) e (d) @) (a), (b), (c) 30U (d)

Consider the following statements :
{a) Preamble contains the real objective and philosophy of the Constitution makers,

(b)  In the Berubari Union case the Supreme Court held that Preamble shows the general
purpose of the Constitution and is thus part of Constitution.

{c) In the Keshavananda Bharati case the Supreme Court reaffirmed the decision taken
in Berubari Union Case.

(d) 42" Amendment Act 1976, added three words Socialist, Sovereign and Integrity in
the preamble.

Which of the above statements is/are correct ?
(1)  Only (a) (2)  (a), (b) and (c)
(3) Only(d) 4) (@) (b) () and {d)

38.

R ToO¥T™ HoH FHid 371(2) WSO HIVAl HeF TGie HaHa 31 ?

(1) g A0 FER (2) HERISZ AU T

(3) TS smfur wfvrg (4) 3Ty WIS ST q@Tn

Article 371(2) of the Indian Constitution is related to which of the following states ?
(1) Jammu and Kashmir (2) Maharashtra and Gujarat

(3) Nagaland and Manipur (4) Andhra Pradesh and Telangana
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39. @rede faur femrag =

(a) WRAE Giaum auet Ifeet g 9 fedaw 1946 TS IR T2

(b) I ASHIE FESM I A AR TFHA 2.

(c) Sl dIHIgs HAGESH § G 999 ey g,

Tt S (91T THET ARG 2

(1) (a) S (b) (2) (b 3 (o) (3) (o) 3T (c) @) (@), (b) 31 ()

Consider the following statements :

(a) The first meeting of the Constituent Assembly was held on 9% December, 1946.

{b}  This meeting was boycotted by Muslim League.

(¢) Dr. Babasaheb Ambedkar was the Chairman of the Constituent Assembly.

Which of the statements given above are correct ?

(1) (a) and (b) (2)  (byand (c) (3) (a)and (9) (4)  (a), (b) and (c)
40. 97 &1 HeAgEHl AfuframgR 1 HHHT ArieYE qwrdl T ey SuE

ST,

(1) Hred § T nufos e

(2) HEHIT FEl

(3) oS U H%A dEHIT Ged

(4) Ich®, 5 q qad gAE

The 97th Amendment Act added a new Directive Principle relating to __

(1)  Free and compulsory primary education

(2) Co-operative societies

(3) Free medical aid to the weaker sections

(4) Speedy, fair and open trial
41, wfedren HfushR Rl Wi &R0ard e -

(1) g4 Alfedl o

) e Wit SHIHHTa IREYw A0

(3) FafedE T Fee fRET FomE!

(4) EOSIE e

Right to Information Act is passed for :

(1)  Providing all information

(2) Promote transparency in the working of public authority

(3}  Repeal Official Secret Act
(4} None of the above
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g sifaer sifufm, 2005 =0 Fow 2 (Th) T9R ‘W’ =7 Juived R s
Ferrarsnt watua wigd=n 9aEy ga. € 999 .

1y T () RN (3) 3 S (4) T oA A

As per Section 2(f) of the Right to Information Act, 2005 the meaning of information
includes information relating to any private body. This statement is .

(1) Wrong (2) Irrelevant (3) Partly correct (4) Can't say

43.

Egan IR TS

(a) I

(b) wifedi=t BEIfHa wa =0

(c) wfadedr mifedr= Tarvit Fo

(d) FrET TH AfevAEG! fHwfao

CRiCiks

(1) I (a) SR 2) (a) 2707 (b) S MRA
@) () 3 () TH TRA (4)  (b) 3T (d) SKIsR 37
Right to Information means :

(a) Taking samples

(b) Taking Xerox of information

() Investigate the information stored

(d) Issue of documents for one month

Answer options :

(1) Only (a) is right (2) (a) and (b) are right
(3) (c) and (a) are wrong (4) (b)and (d) are right

44,

wifedren AR St TR e & (e 99 A

(1) 30 feoEm @) 60 fqaam

(3) 90 feaam (4) UStH R
Second appeal under Right to Information can be made within :
(1) 30 days (2) 60 days

(3) 90 days (4) None of the above

oAl HIMATS 90T /SPACE FOR ROUGH WORK
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45. YA S I 9 Aifedt Afywrame Aifed faefavart faAd wom o6 e o
_ feawen sm wifed <.
(1) 10 (2) 20 (3) 30 (4) 40
Excluding exception when any information is requested from any state public information
officer the same shall be provided within ____ days by him.
(1) 10 (2) 20 (3) 30 (4) 40
46. T-TH 9 Mwa T FEHI @ TEE FIFUHA A=EI ¥ ieaal 3%,
(1) 3 Tg AFHLEA, (2) USRI,
(3) TT=Laa (4) TeELuETw.
The C-DAC’s - software is a scanner for virus for vulnerabilities in php
application.
(1) AWICS (2) SIWS
(3) PAVS (4) AVSS
47, H-Zw F AW IdtE FHEL STAR F @A @IS O S R e e i e
S
(1) dsrer @) s (3) FEYE @) TR
C-DAC cancer care system for rural area is known as :
(1) Tejhas (2) ONCONET (3) Megh-Sushrut (4) E-Sushrut
48, TEREIGY WoeTR! ®HE B e,

(1) Held Teoar aES HiheT 981 Aoararg Gaia sauarERt

(2) TERE WA SHdfa STeaTIE qeia SavaEgt

(3) B d 91 = SneUiERt

(4) @ () F3) TR

The firewall is having following function :

(1)  Itis to safeguard internal network from vulnerable outside network.
2} ltis to saleguard external network from internal network.

(
(3) To connect LAN to WAN
(4) Option (2) and (3) only

wOHT HTUMEIS A /SPACE FOR ROUGH WORK
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49, wifad! dagreal wEMia arRen Ao CFefren’ (Bandwidth) T WEET A4 @ 7
(1) TOTETEl & (2)  HTWEHTE
(3) HIUHTE AT F (4) <R G 9 Rl
The term “Bandwidth’ related with Information Technelogy means o
(1) Capacity of computer {(2) Speed of computer
(3) Speed and capacity of computer (4) Speed and capacity of network
50. WiI-SF U WG HUHN 3T SRR U SRE O RO 2FERTH e o e |
e,
(1) ¥ (2) VR 3) = (4) @ud
C-DAC has developed an application which can be used for multi-document summarizer
known as :
(1) Saransh (2) Saranshak (3) GIST (4) Summary
51. Sl FOd (TEsH) = -
(1) SEME FERH (TRART)
(2) SR SYwsd
(3) Wifedrem sfya atomidl Wiaay
(4) ST UHGA 99 TUR HOAEEE sHewe
Data Integrity means :
(1) Integration of data
(2) Availability of data
(3) Preventing any unauthorised alteration of information
(4) Preparing unified data view system
52. WU SAeredl (HFGSL Jead) WU AR AT VPN (RHLUA.) W FEyEr ey

7

(1) =S MRS Fea" (2) =R FAT 2Ah

(3) = Y Tk (4) WIS WEEST A

With reference to computer netwark, the exact meaning of the term VPN is :
(1) Virtual Protected Network (2} Virus Protected Network

(3) Virus Proof Network (4)  Virtual Private Network

FHoAT RIS JOM /SPACE FOR ROUGH WORK
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53, SIS Wesgd ATTEER Auid AMTESAL (150) 91 99N HuE.aE. (0S81) /@
Y T 06 YUY R0 ?

(1) 9" oM 3Ry ) 3= fo=m gewwn
@) 3= fawin e (4) et T
According to the International Standards Organization (150), the term O.S.1. means :
(1) Open System Interface (2) Open System Interconnection
(3) Open System Integration {4) None of the above

54. T & ofirn 3 s9a00 & TR i S Qs yonet IME. € WOt 9T
ELELGIGH '
(1) THTURT (2) THEULILT (3) TH.SMTH. (4) THIRTET,
The screen reading software developed by Media Lab Asia is known as which
is used by disabled person.
(1) S.AFA. (2) S.AB.A. (3) SRS 4) SRSA.

55. QEE S WA B U erdt SR &1, 90 3oa2ie far =9t @Eiwise 2ugm MR
T HTEETE R 24 WHIO ST,
(1) oEWds fwrefaEn 2 RN T
(@) wErmE S (4) ST TN
According to Cyber law means a person who has been granted a license to
issue an klectronic signature certificate under Section 24.
(1) Asymmetric Cryptosystem (2) Electronic signature
(3) Certitving authority _ (4) Computer authority

56. WNTHT® AEE-TTafd=n 30 29 SR Ui daid 018 A8HE s S ang ?

(1) fowaeem ) g9 @) o (4) FA
Which is the biggest natural harbour handling 30% of India’s export and import trade ?
(1) Vishakapattnam(2) Mumbai (3) Kolkata (4) Cochin
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RSN TEqH FTEHa] OIS o1s] [aarid =47 :

(a) TRQTSH! Sleqd sqaEaed fafay vgat 27 Fgten vl g,

(b) AT ATEqe el HTavA FELH L.

FHSNEY FI Fau= SRIaT e ?

(1) T (@) (@) () @) T @) T

In connection with Indian transport system, consider the following :

(a) India’s transport system comprises a number of distinct modes and services.
(b) Indian transport system is highly efficient.

Which of the statement given above is correct ?

(1) (a) only (2) (byonly (3) Both (4) None of the above
TIFNRE @F T Hoarax gHEE ge e

(1) =y (2) ===

@) P = () =T AR

Primary deficit is the fiscal deficits minus

(1) interest payment (2) interest receipts

(3) net interest payment (4) none of the above

itz FrfeTend e TR WElE R de Faiten 02
(1) v T fase 1 (IRDP)
(2) U= O AR @ (NREP)
(@) Tvtor s AR g Ao (RLEGP)
4) SleUm wd
Which of the following programme was introduced by the government to alleviate poverty
in India ?
) The Integrated Rural Development Programme (IRDP)
(2) The National Rural Employment Programme (NREP)
(3) The Rural Landless Employment Guarantee Programme (RLEGP)
(4) All the above

P.T.O.
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60. ¥ T FE WS HGARE A4 -

(a) StFFL () Tau ge

() Trm e (d) U

At 39 ;

(1) (@) 3 (b) P (2 (@3 (d) FH

@) (@), ®) F () v 4 1) T () $
These taxes fall under the jurisdiction of the union government :
(@) Income Tax (b) Custom duties

(c) Corporation Tax (d) Toll Tax

Answer options :

(1) (@) and () only (2)  (c) and (d) only
(3) (@), (b) and () only (4)  {b). (O and (d) only

61. widiEl Hidl dehool sifeh siftn forfia areiia sieh et forear gfem 3@ 2
(1) @i (2) eI
(3) TR (4) =otEt v

Which of the following concept refers to the expansion of economic and financial activities
across the national boundaries ?

(1) Privatisation (2) Liberalisation
(3) Globalisation (4) Al of the above

62. T T HIISAF Qoo Hifgdl o -
(2) TN A 3T

by efitem 9ff9 arafas e

(c) o SANIAI® L o GUE STHS
(d) HER=N HeEoE 9 @ Fidr gl awie

qaist I

(1) (a) v (2) (b) = (3) (o) % (4) whelat wd
Budget of Government of India gives information about :

(a) Budget estimates of the following year

(b) Actual figures of the preceding year

(c) Budget and revised figures for the current year

(d) Complete picture of estimated receipts and expenditure
Answer options :

(1) (a)only (2) (b)only (3) (o) only (4) all of above
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63. SIS IS YRARE @Y 01 Heaq e T HEE hivicd| Al JHR ST o
e ?
(1) T G HAEE He
(2) OURA GH FEHF FH O HEH
(3) W e
(4) I TAFAE TES ISR
Which of the following constitute the challenge for small and medium enterprises in India,
due to globalisation ?
(1) Limited exposer to foreign market
(2) Achieving cost efficiency
(3) Lack of competition
{(4) Easy access to foreign technology
64. STEWET MR I (WTO) = FIRE WIOOUd! hIvieal TR SRy oo 6 ?
(1) ¥R AR QU ST, (2) T T2 FHH FO.
(3) YA TEHE FH FIO. (4) Tt ¥z amwefa.
The WTO agreement on agriculture does not aim at which of the following ?
(1) Improving market access (2) Reducing domestic subsidies
(3) Reducing domestic support (4) Increasing export subsidies
65, WOGIF! HITE T TS Gasia SASRien FaEeR 3T ?

(1) oM D ggd

(2 R fawrd Fravem

(3) #Fdl IrA anf Hree fTwwme gow

(4 wlot= wd

Which of the following factor is responsible for educated unemployment in India ?

(1) Defective educational system

(2) Inadequate development planning

(3) Inadequate attention to the development of human resource and skills
(4) All the above
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66. I SHNORIET @ =T YAl Seiaan.

(1) Fam (2) @maE|

(3) TAEE (4) aletm AE

Income terms ol trade increased cap:acity of

(1) export (2) import

(3) investment (4) none of the above
67. G @ AU = Aw.

(1) E&m (2) wwIEEHA

(3) S | - (4) S WAET

_ is not an unproductive expenditure,

(1) Defence (2) Administration
(3) Energy {4) Interest payment
68. SMfAHFIME Hisaw, qH MW a&=r Jae arman
M gw (2) (3) Wi 4) TP

Under globalization flow of capital, labour and goods are

(1}  Free (2) Controlled (3) Restricted (4) Co-operative

69, T W= faeg waidle twad qecEl 92F WO
(1) foago () Wt (3) AT wmEHAS  (4) T Y
The singlemost important item of development expenditure of the state is :

(1) Education (2) Agriculture (3) Civil works (4) Rural projects
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70.

71,

29 NO8
WHEIHT FIW AETHT F16 FHE A TR ?
(a) 3o &
(b) HF THTHSA HTOS Hl
() W= FE
(d) Fhetw od
gy 39
1 @ (2) () () (D 4) (©

Which of the following are the major heads of debt of public finance ?
(a) Internal debt

(b) Loans and advances from the central government

(c) Provident fund

(d) All of above

Answer options :

o @ Z} (b () (d) 4 (©

[y T A e WA @ TE A

(1) ufis, 2004 (2y Uy, 2005 (3) ufuw, 2006 (4) fie, 2007
The Rajiv Gandhi Gramin Vidyutikarn Yojana (RGGVY) was launched in
(1)  April, 2004 (2)  April, 2005 (3) April, 2006 (4)  April, 2007

Yelid SIdwIE T JeaHed hes Wid o EHEREC R

(1) FEc Hes (2) @ (3) A (4) JEERE
In budget every programme has to be evaluate.

(1) legislative (2) cash (3) multiple (4) zero based

AT T/ AN /SPACE FOR ROUGH WORK
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73. WTa& SR TN AT A FOCE qE AR S0t 2

(@) Tadeh siesemie @ frfa Figa e,

(b) AR ol TErER fEy | o,

() Fod USG9 STEHE HERT T A7,

(d) Tt Toareraria et JaeveuyHEs 5T Foh TdauERt 7L Q0.

watdt 34T :

1) (2 2 R @) (o) FH @) «owd

The main features of TRIMS agrcement of WTO is :

(a)  All restrictions on foreign capital should be scrapped

(b) Norestriction will be imposed cn any area of investment

(¢) Imports of raw materials and components will be allowed freely

(d) The foreign investor shall be given the same rights in the matter of investment as a
national investor.

Answer options :

(1) (a) only (2) (b} only (3) (c) only (4) Allofabove
74, WT2000 HT T SERIGER 4 F Aegerd], g § Usd WA Sl

faeoms Taftg 999 wgH oS R4, '

(1) e= @) 7=n (3) 8=T (4) o=

There has been significant change in distribution of central tax collections between the

central and state governments according to Constitutional Amendment in

2000.

(1) o%* (2) 7t (3) 8tk 4) ot

FosaT THIMTETS AT /SPACE FOR ROUGH WORK
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75.  EF 2011-12 1 TG A SEN=A SESTTER SiEr=l HsHIEasid &I I g2
HHM TEL

(a) W TW

(b) sffem

(c) = WW

(@) fer

Tatdr 3T ;

1) (D, (© (b) @ @ (@ b)) @) @), b)()@ @ (a)b)d @

Arrange these states in descending order with reference to the incidence of poverty
estimated by the Planning Commission for 2011-12.

(a) Uttar Pradesh
(b) Odisha

(¢) Madhya Pradesh
(d) Bihar

Answer options :

O Db @ @b @ @00 @ @ ®de

76. A [T W Ast ST ST,
(1) 19, 1993 (2) 19, 1994 3) 193 199 (4) 10, 1996

Service tax was introduced in India on

(1) 1%July, 1993 (2) 1t July, 1994  (3) 1%t July, 1995  (4) 1% July, 1996

77. T W AR SR TR FI0 TR He g ?

(1) . gowfem (2) e Hea

(3) HreA "t (4) . S

The final draft of the 5t five year plan was prepared by

(1) C. Subramaniam (2) Ashok Mehata
(3) Mohan Dhariya (4) D.P. Dhar
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78, STEIHV, WNOHHT & AATIGRIA & 91 < @i e
(1) HeFE= (2) WiEIOEEN
(3) &t anfde dRoT 4) Totw T
Liberalization, Privatization and Globalization are the three pillars of
(1} Co-operation (2} Capitalism
{(3) New Economic Policy (4) None of above
79. F GHAW T ¥t Had o
(1) FT@
2y @R
(3) UShgd GHAHS F HshiHa 2o
(4) ardel e

Tax shifting refers to

(1} avoiding of tax

(2} imposing tax

{(3) shifting tax burden from one person to another
(4) none of these

80. A HfaumHle ([qaveE € Wele Huel MEES T 2

(1) SeURAE e (2) i wiEdTa e

(3) weT = (4) <iETd 9©

Investment in infrastructure leads to which of the following ?

(1) Fall in output (2) Reduce in competitiveness
{3) Reduce in poverty (4) Increase in poverty

§1. Wfa® AN HET=a1 (WTO) HYRE S0 Il &emel 3= weurd aifie Taaer 7ed
RUA WUl RIUE G900 JUGRT QT 3R ?
(1) TR Siey |qure (2) =3 AT WU
(@) T EE a9 4) IS W
Which of the following is provided as the annual level support in monetary terms extended
to agriculture sector by the member countries as per the provision of WTO ?
(1)  Amber Box Support (2) Blue Box Support
(3} Green Box Support (4) Red Box Support

THTAT WHES AT /SPACE FOR ROUGH WORK
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82. WS faurie faar =1 :
(a) el Wi 2 Afadier, 2014 WA FEA AN AT Hae! .
(b) ot erfag UE ® = SWEas ST
(c) foehre WiwaT Tod ferae ST T=IhM =1 feadhier .
FIU faum ey e ?
(1) (a) 000 (b) W SR SRR, (2)  (b) I () W SRR ST,
(3)  (a) AN (¢) T AR ATeA (4) o Td fagm SR e,

Consider the following statements :

(2) NITI Ayog has replaced the Planning Commission from 2" October, 2014.
(b) Mr. Arvind Panagariya is its Vice - Chairman.

(¢) It has adopted bottom-up approach in development process.

Which statetnent is correct ?

(1) (a) and (b} only are correct (2) (b) and (c} only are correct

(3) {(a) and (c) only are correct (4)  All of the above are correct

83. frehe faditufadidt ofe asiz Fiete ot (FRBM) =1 & el 2R -
(2) WEHS qErd ITAEY HIU
(by TEHIET T HHE FIO
(¢) dTR TEAHE HAH B TS
(d) Hem @ H9d H

gy 36T :
(1) () 300 (b) wed (2) () 3nfur (d) Tk
(3} (a), (b) 3T () = @) (a), (b) 370 (d) T

The Fiscal Responsibility and Budget Management Bill (FRBM) was aimed at :
(a) Eliminating revenue deficit

(b) Reducing fiscal deficit

{c) Containing growth of public debt

(d) Reducing defence expenditure

Answer options :

(1) (@) and () only () (c) and (d) only

(3) (a), (b) and (c) only (4)  (a), (b) and (d)} only

oAl SRTHTETS! ST /SPACE FOR ROUGH WORK
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84, WOIGUH! HIVEl 91d =ed AT Yad ?
(1) = 7 arg=n fEmiet e sl
(2) = T wEd fashi=a1 Aol SO e Sral.
(3) e @ Il fom= o oo @ = et oee Sl
(4) alote ¥
Which of the following is the features of VAT ?
(1) VAT is a tax on sale of goods.

(2) Itis imposed at the point of sale only.
(3) Itis imposed on the difference between sale value and purchase value of goods.
(4)  All the above

85. THESH SEFTUESH hrli-aa o ‘Tl s g yigw s e ?
(1) Y foero 2oy,
(2) g amfor wew wERTe faxita dey guwor,
(3) TR uRvTeH® AU qif SEEaH weer 230,
(4) HRET TF HEH T Al
What is the main role of NITI Ayog which replaces Planning Commission ?
(1) To impart value education.
2) To improve center-state financial relations.

(
(3) To provide government with relevant strategic and technical advice.
(4) To transform India into a great nation.

86. HHTE ‘@HEE A YAl Ao @ @ e,
(1) IUEF TH (2) I9ET @Y
(3) icae @4 (4) =ISHH TR
The expenditure of the Government on ‘law and order’ is classified as
(I) Productive expenditure (2) Unproductive expenditure
(3) Capital expenditure (4) None of the above

87. H{UL HEHS WOGUH! HIVl TR dat ?

(1) dod, AR, THTS (2) IS YEdt J S

(3) W FR TS (¢4) itR we

Non - tax revenues come from : )

(1) Currency, coinage and mint (2) Interest receipts and dividends
(3) Other non-tax revenues (4) Al of above
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88. HAYHE Hyw TEEEX i @

(1) TR (2) = (@) wiomt 4) HOER

Indirect taxes have effect on the society.

(1) Progressive (2) Equitable (3) Regressive (4) Proportional
89. WAIEA wHihe SEI¥d H4H PRSI ghH < vl o ?

(1) SmE 6 (2) Wi YR e (WTO)

(3) i A e (IMF) (4) weaEdl e (AfE)

Who has been given the mandate to negotiate multilateral rules in services 7

(1) World Bank (2) WTO

(3) IMF (4) Central Banks
90. T99 FHtvH 1 & ULUdT v SrEdra FTERe 0 38 2

(a) T AT T TEFR G F75 TLHRAT qe0T 01,

(b) ST STHGHIGA THT SeI=T LUTRAT ST ded STavl,

(c) T FINE FHF 9 TCHHER 9 SRR g foda geant FEh 1%,

(d) aletH wd

et 9

(1) (a) ®H (2) (d) = 3) (b) ®F (4) (o) ®F

The function of finance commission is for make recommendations to the President in
respect of : -

(a) The distribution of net proceeds of taxes to be shared between the union and the
state.

(b) The principles which shoiild govern the payment by the union gtant—m—alcl to the
revenue of the state.

(c) Any other matter Concerning financial relations between the union and the state.
(d)y All of above
Answer options :

(1) (a) only (2) (d)only (3)  (b) only (4) (<) only

HoeAT THIWETS AT /SPACE FOR ROUGH WORK
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91, TEWEFRA TEE™ Heger™ & [l 37Rd.
(a) ToF THRH WA H
(b) Fg IMHATS WeYw IG-TAIS Tod TR dle]
() %% VAR FIH T TR Hed
(d) T TERE FUH WEIA THT HeqS
ot I
1) (2) ®H (2) (b) FH 3) () v (4) FhSE ud
Important sources of state government revenue are :
(a) State’s own taxes
(b) State’s share in the tax proceeds of the central government
(¢) Grants-in-aid and other contribution from the centre

(d) State’s own non - tax revenue
Answer options :

(1) (a) only (2) (b)only (3) (c) only (4) All of above

92. WA SATIR FHEA=AT (WTO) Ta-Traryl yiiwe=n Haria Weite afgen F oned
(a) =ATIR afor fara wiwe

(b) FEfavaE AR TRue

() Harfaugs =R Tfwg

ST AT T TAAT TR IR Sqfd wria 3 ?
(1} % (a) (2) HH (a) 30 (b)

(3) T (b) I () (4) (a), (b) 3T (o)
Following are the councils working under General Council of WTO :
(a) Council for Trade and Development

(b} Council for Trade in Goods

(c) Council for Trade in Services

Which of the above council are actually working under the General Council ?
(1) Only (a) (2) Only (a) and (b)

(3)  Only (b) and (c) (4) (a), (b) and (c)

93. eIl STV ATIEIET SEHYRY F (GATT) oSt Sfas SR 99241 (WTO)
=it Al e,

(1) 1<SHad, 1957 (2) 1 9Ha, 1991
(3) 1 SMar, 1995 (4) 1 <HaE, 1996
WTO replaced GATT and came in existence on .
(1) 1% January, 1957 (2) 1% January, 1991
(3) 1%t January, 1995 (4) 1% January, 1996

HeAT HUMEIS ST /SPACE FOR ROUGH WORK
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94. RATSAN AT 1951 ATl e 8l Wil SHIVedl RO Aol ?

(a) STRNFTEI= Se] TaH SV aRie SR Hisad avg d $=41 HeE AEE.

(b) SERIETes Frafdien ST ared! F=h e .

() SFAYET J 3T AEFHARH! FHH T .

(d) e T fEmdia gom Sy 97

i S |

1) (@) w= @ MFOFE (3 @IDFA () T

Structural changes in India’s imports since 1951 shows :

(a) Rapid growth of industrialisation which needs necessary imports of capital goods

and raw materials.

(b)  Growing imports of raw material on the basis of liberalisation of imports and exports.

(c) Declining imports of food grains and other consumer goods.

(d) Sharp rise in international prices of oil.

Answer options :

(1) (a) only (2) (b)and (c) only (3) (a)and (d) only (4) All of above
95. T TEH T Fg (SEHE) I\ FEIF B HF FOO 3T HIGT THO 7

(a) I (FAHE fows T <)
(b) TR fooe IS H3

(©) ¥ I

() e HET GRhIE

Tatdt Sy

(1) () 30fvr (b) Fot 2)  (b) 3T () T
(3) (@ (b), () 3T (d) @ (o) & (d) W

Ee new Direct Tax Code {DTC) removed most of the categories of exempted income
e: ,

{a} ULIPS - United Linked Insurance Plan

{p) Equity Linked Mutual Funds

(¢) Term Deposits

(d) National Saving Certificates

Answer options :

{1) (a) and (b) only {2) (b)and (c) only

() (@, (), () and (d) (4) () and (d) only

THoAT FHTATETS AT /SPACE FOR ROUGH WORK
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96. 'Tafay wfagm =itz H291E" 71 WIGGUH! HIVT ATSST ?

(1) Swias 9% (2) HHd fA=E g, 2010

(3) feiem gz (4) frd 9% 1 s

Whicl of the following has introduced ‘Multidimension Poverty Index” ?

(1)  World Bank (2) Human Development Report, 2010
(3)  Planning Commission (4) Reserve Bank of India

97. RANI® KT fFar GiEgEien gue Srie Y SR,

(a) TASEOAE AT WA,

(b) WA QAT #Hfush avgd TEoL

(c) g uforfagA = ge

FIETE FI0 29 aRER 12 7

(1) (a) 300 (b) T (2)  (b) W () W (3)  (a) AW () FH (4) (a), (b) I (c)
Civil aviation in India suffers from the following weakness :

{a) High cost ol operation

(b) High dependence on foreign suppliers

() Inadequale truined manpower.

Which of the statements given above is correct ?

(1) (a)and (h) onlv (2)  (b)and (c) only (3) (a) and (c) only (4) ({a), (b) and (c)

98, WHGUF! FIVK e TAERRSY T THE FRUTYA 3 ?
{(a) TR W
(by Fee fHAA a9 TEYE G o ARE TR
(c) TERTr forvl o Widseh AT TR B &
(d) TowmE=Eds '
T IAT
(1) TERE Q) (@) =N () () T (4) (o) &
Which are the reasons for the increase in expenditure of the state ?
(a) Expansion in civil administration
(b) Higher salaries and wages due to rise in prices and cost of living

{c) Increase in the provision of government services in the form of education and public
health

(d) Increased development expenditure
Answer options :
(1) Al of above (2) (a) only (3) (b)only 4) {c)only

el HIATETS S /SPACE FOR ROUGH WORK
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99, WEIBUH! HIV HZahT=] YEr=aT Afelw fasaren fee-wem sfeeis gaey 8 2

(1) =g (2) orfels fawmar +t

(3) =i fges (4) =@t v

Which of the following constitute long-term objective of economic planning in India ?
(1)  Self - reliance {2)  Reduction in income-inequalities

(3) Elimination of poverty {(4)  All the above

100. YRGS IFHE! TESUR] $HUQ 1, 2 HeaTs T 2

(1) IR aedt den (2) FITA A
(3) WS HETOfe e (4) HIITOHS N WU FEGI
Which of the following is not the important cause of unemployment in India ?
(1) Increase in labour force {2) Inappropriate technology
(3) Lack of effective demand {(4) DProtective labour law
-00o0-

oAl /TS AT /SPACE FOR ROUGH WORK

P.T.O.




NOS8

40 A

T — (7% 1 7867 q3.... )

®) wEgfsnsd fafeq Foem fafre Sria = M (TF6 3F) 6. TAassAaRa Iatusa @
IR FHNEO Fed F9 Hedrd d FIA FOGAT RIA FS TR, 3 THO T § WA IASITHR
IEAR S oo T A e vy woqEe Afufan-s2" ane RE@gER wREE
FOAE Ao F Q4T Fdl FHS UF I9TSN wASHrAT A/ T U TR e ders sy
I 2.

(9 TR TEEEFAR A fafed FOH 32 TUCHHE SHEIRIOT € FETYiT WA aiet TREeeTet
U A WA . WA GHTERLTETRT FWUATgE] SHEare HUedr IAWIGEr |IT- 1
WHANETHS 7RI T Fur avae e

9. &. 201.

9. %. 201.

AT 9
<! IS TR GRSt FHI Yok TEE F
(1) @ TEEe rEd () =z fammarr
(3) TN A 0 (4)  TiUTERE ES

o FEAR I I (3) T I 69 o o, W W YR W ()" T, Ok
WIHOWATIT TH F. 201 TOle sq-Fa% ()" ¥ a4z ot srifed 64 qmafam
AETIF TR,

ONON BO

I YgdH YT FAYfdSdie &S WA U9l SaGhdie 8 Jelel Saeied qiaeean
IRAFRINS N W TITRAREH IS Haiid age quias Srifsa $&4 SrEaer.  gnahiar
T Thiedl TEE Ao arqe, AhEs o1 e I ane .
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